Fax Page 1 of 5



Sales Tax Exemption

Texas A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M.

The laws of the State of Texas shall govern this Purchase Order

Member of the Texas A&M University System.

Purchase Order					
Purchase Order Date	PO/Reference No.	Revision No.			
Oct 11, 2019	AB0489171	0			

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buyer Contact:

Buyer	Buyer Email	Buyer Phone Number		
paw - Winkler, Patty	p-winkler@tamu.edu	979.845.4556		
Customer Contact:				
Name: TAMU ORDERING DEPT 02-QENG				
Email:	purchasing@qatar.tamu.edu			
Phone:	+974 4423 0521			

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Texas A&M's Terms & Conditions, which are available online: http://purchasing.tamu.edu/suppliers/bidscatalogue-tc-form/

Suppl	lier Information	Delivery Information			
Supplier Name	MANNAI TRADING CO WLL	Delivery Address			
Address	RAMADA JUNCTION	TAMUS Member:	02-Texas A&M University (02)		
	PO 76	(02) Joe David Lewis -			
	DOHA, QA	Information Technology			
FOB / FREIGHT	Destination	Texas A&M University at			
Pre-Pay & Add	No	Qatar			
Payment Terms	0, Net 30	Net 30 c/o Qatar Foundation			
Contract Number - Header	C8700015	PO Box 23874			
Contract Number - Line	no value	Education City			
	no value	Doha, XX 0			
Quote number		Qatar			
		Delivery Information			
		Required Delivery Date	Nov 24, 2019		
		Ship Via	Best Carrier-Best Way		

Notes to Supplier				
Shipping Instructions				
Note to Supplier Reference TAMU Master Order C8700015				
	PAYMENT TERMS - 100% net 30			
	Shipping Terms - DDP			
	SEE ATTACHED TERMS AND CONDITIONS			

Fax Page 2 of 5

> *PAYMENT WILL BE MADE IN QAR* Please invoice in Qatari Riyals not greater than Qar. 237,103.43

Attachments for supplier

Quote and TC - 1...

PO Clauses			
Header	001	No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or handling charges will be accepted.
	102	TAMU Terms & Conditions	Terms & Conditions - Texas A&M University -This purchase order is issued on behalf of Texas A&M University and is governed by the Terms & Conditions found online: http://purchasing.tamu.edu/suppliers/bids-catalogue-tc-form/ From this website please select "Texas A&M University" from the drop-down menu.

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 40	Part no. WS-C3850-12X48U-L Cisco Catalyst 3850 48 Port (12 mGig+36 Gig) UPoE LAN Base	N/A	EA	6,925.50 USD	1 EA	6,925.50 USD
2 of 40	Part No. CON-PSRT-WSC3851L PRTNR SS 8X5XNBD Cisco Catalyst 3850 48 Port (12 mGig+36	N/A	EA	561.5191 USD	1 EA	561.52 USD
3 of 40	Part No. S3850UK9-166 UNIVERSAL	N/A	EA	0.00 USD	1 EA	0.00 USD
4 of 40	Part No. C3850-NM-2-10G Cisco Catalyst 3850 2 x 10GE Network Module	N/A	EA	1,323.00 USD	1 EA	1,323.00 USD
5 of 40	Part No. PWR-C1-1100WAC/2 1100W AC Config 1 Secondary Power Supply	N/A	EA	855.00 USD	1 EA	855.00 USD
6 of 40	Part No. CAB-C15-CBN Cabinet Jumper Power Cord, 250 VAC 13A, C14-C15 Connectors	N/A	EA	0.00 USD	2 EA	0.00 USD
7 of 40	Part No. STACK-T1-50CM 50CM Type 1 Stacking Cable	N/A	EA	45.00 USD	1 EA	45.00 USD
8 of 40	Part No. CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM	N/A	EA	42.75 USD	1 EA	42.75 USD
9 of 40	Part No. PWR-C1-1100WAC 1100W AC Config 1 Power Supply	N/A	EA	0.00	1 EA	0.00 USD
10 of 40	Part No. C3850-48-L-L C3850-48 LAN Base E- Delivery License	N/A	EA	USD 0.00	1 EA	0.00 USD
				USD		
11 of 40		N/A	EA		1 EA	

Fax Page 3 of 5

	Part No. WS-C3850-12X48U-L Cisco Catalyst 3850 48 Port (12 mGig+36 Gig) UPOE LAN Base			6,925.50 USD		6,925.50 USD
	·					
12 of 40	Part No. CON-PSRT-WSC3851L PRTNR SS 8X5XNBD Cisco Catalyst 3850 48 Port (12 mGig+36	N/A	EA	561.52 USD	1 EA	561.52 USD
13 of 40	Part No. S3850UK9-166 UNIVERSAL	N/A	EA	0.00 USD	1 EA	0.00 USD
	1			032		
14 of 40	Part No. PWR-C1-1100WAC/2 1100W AC Config 1 Secondary Power Supply	N/A	EA	855.00 USD	1 EA	855.00 USD
15 of 40	Part No. CAB-C15-CBN Cabinet Jumper Power Cord, 250 VAC 13A, C14-C15 Connectors	N/A	EA	0.00 USD	2 EA	0.00 USD
16 of 40	Part No. STACK-T1-50CM 50CM Type 1 Stacking Cable	N/A	EA	45.00 USD	1 EA	45.00 USD
	1			03D		03D
17 of 40	Part No. CAB-SPWR-30CM Catalyst Stack Power Cable 30 CM	N/A	EA	42.75 USD	1 EA	42.75 USD
18 of 40	Part No. PWR-C1-1100WAC 1100W AC Config 1 Power Supply	N/A	EA	0.00 USD	1 EA	0.00 USD
	1			030		
19 of 40	Part No. C3850-48-L-L C3850-48 LAN Base E- Delivery License	N/A	EA	0.00 USD	1 EA	0.00 USD
			ı			1
20 of 40	Part No. C3850-NM-BLANK Cisco Catalyst 3850 Network Module Blank	N/A	EA	0.00 USD	1 EA	0.00 USD
21 of 40	Part No. UCSC-C220-M5SX UCS C220 M5 SFF 10 HD w/o CPU, mem, HD, PCIe, PSU	N/A	EA	1,664.55 USD	2 EA	3,329.10 USD
22 of 40	Part No. CON-SNT-C220M5SX SNTC 8X5XNBD UCS C220 M5 SFF 10 HD w/o CPU, mem, HD, PCIe, P	N/A	EA	298.2525 USD	2 EA	596.51 USD
23 of 40	Part No. UCS-MR-X32G2RT-H 32GB DDR4-2933-MHz RDIMM/2Rx4/1.2v	N/A	EA	919.35 USD	8 EA	7,354.80 USD
24 of 40	Part No. UCS-SD480G121X-EV 480GB 2.5 inch Enterprise Value 12G SAS SSD	N/A	EA	1,115.55 USD	10 EA	11,155.50 USD

Fax Page 4 of 5

25 of 40	Part No. UCS-SD-32G-S 32GB SD Card for UCS servers	N/A	EA	72.90 USD	2 EA	145.80 USD
26 of 40	Part No. CIMC-LATEST IMC SW (Recommended) latest release for C-Series Servers.	N/A	EA	0.00 USD	2 EA	0.00 USD
27 of 40	Part No. UCSC-PSU1-1050W Cisco UCS 1050W AC Power Supply for Rack Server	N/A	EA	328.05 USD	4 EA	1,312.20 USD
28 of 40	Part No. CAB-C13-C14-2M Power Cord Jumper, C13-C14 Connectors, 2 Meter Length	N/A	EA	0.00 USD	4 EA	0.00 USD
29 of 40	Part No. UCSC-RAILB-M4 Ball Bearing Rail Kit for C220 & C240 M4 & M5 rack servers	N/A	EA	99.00 USD	2 EA	198.00 USD
30 of 40	Part No. UCS-SID-INFR-OI Other Infrastruture	N/A	EA	0.00 USD	2 EA	0.00 USD
31 of 40	Part No. UCS-SID-WKL-OW Other Workload	N/A	EA	0.00 USD	2 EA	0.00 USD
32 of 40	Part No. UCSC-HS2-C220M5 Heat sink for UCS C220 M5 rack servers CPUs above 150W	N/A	EA	0.00 USD	4 EA	0.00 USD
33 of 40	Part No. UCSC-BBLKD-S2 UCS C-Series M5 SFF drive blanking panel	N/A	EA	0.00 USD	10 EA	0.00 USD
34 of 40	Part No. UCS-MSTOR-SD Mini Storage Carrier for SD (holds up to 2)	N/A	EA	0.00 USD	2 EA	0.00 USD
35 of 40	Part No. CBL-SC-MR12GM52 Super Cap cable for UCSC-RAID-M5 on C240 M5 Servers	N/A	EA	0.00 USD	2 EA	0.00 USD
36 of 40	Part No. UCSC-SCAP-M5 Super Cap for UCSC-RAID-M5, UCSC-MRAID1GB-KIT	N/A	EA	0.00 USD	2 EA	0.00 USD
37 of 40	Part No. UCS-CPU-I6248 Intel 6248 2.5GHz/150W 20C/27.5MB DCP DDR4 2933 MHz	N/A	EA	4,725.00 USD	4 EA	18,900.00 USD
38 of 40	Part No. UCSC-RAID-M5 Cisco 12G Modular RAID controller with 2GB cache	N/A	EA	970.20 USD	2 EA	1,940.40 USD

Fax Page 5 of 5

40 of 40	Part No. UCSX-TPM2-002 Trusted Platform Module 2.0 for UCS servers	N/A	EA	33.75 USD	2 EA	67.50 USD
39 of 40	Part No. UCSC-P-M4D25GF Mellanox MCX4121A-ACAT dual port 10/25G SFP28 NIC	N/A	EA	888.75 USD	2 EA	1,777.50 USD

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu.	Texas A&M University-Accounts Payable ***Do Not Mail Invoices*** Email invoices to invoices@tamu.edu 750 Agronomy Road - Suite 3101 6000 TAMU College Station, TX 77843-6000
Invoice must include the PO/Reference number shown above.	United States